



Name: _____

Datum: _____ Ergebnis: _____

$$\left(-\frac{3}{5}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right) - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{3}{5}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{4}\right)^3 - \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \frac{3}{5} =$$



Name: _____

Datum: _____ Ergebnis: _____

$$\left(-\frac{3}{5}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{73}{216}\right)$$

$$\left(\frac{1}{5}\right) - \left(-\frac{1}{2}\right) = \frac{7}{10}$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{2}{5}\right) = \frac{13}{80}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{4}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{4}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(-\frac{1}{4}\right) - \frac{1}{2} = \left(-\frac{3}{4}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{5} = \left(-\frac{22}{45}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{29}{40}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{22}{45}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \frac{2}{5} = \left(-\frac{9}{25}\right)$$

$$\left(\frac{3}{5}\right)^3 + \frac{3}{5} = \frac{102}{125}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{4}\right) = \frac{43}{64}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) = \frac{5}{12}$$

$$\left(\frac{1}{4}\right)^3 - \frac{3}{5} = \left(-\frac{187}{320}\right)$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{74}{125}\right)$$

$$\left(\frac{1}{3}\right)^3 - \frac{3}{5} = \left(-\frac{76}{135}\right)$$